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Code
*HW1_1

.prot
lib'cic018.I'TT

.unprot

.option

+post

+captab

+ABSTOL=1e-7 ACCURATE=1

* Power Source
Vdd1 vdl gnd 1.8
VG1lvglgndO
Vdd2 vd2 gnd 1.
VG2vg2gnd 0

* Circuit Topoliogy *
M1A vd1 vgl gnd gnd n_18 w=5u |=0.18u m=2
M1B vd2 vg2 gnd gnd n_18 w=5u 1=0.36u m=4

* Analysis Statement *
.OP
.DCVG101.80.01
.DCVG201.80.01

* Output Control *

.probe Vthl = LV9(M1A)

.probe ID1 = par('log(LX4(M1A))")

.probe PE1 = par('LX7(M1A)/LX4(M1A)')
.probe IG1 = par('LX7(M1A)/LX8(M1A)")
.probe SP1 = par('LX7(M1A)/LX18(M1A)')



.probe Vth2 = LV9(M1B)

.probe ID2 = par('log(LX4(M1B))')

.probe PE2 = par('LX7(M1B)/LX4(M1B)')
.probe 1G2 = par('LX7(M1B)/LX8(M1B)")
.probe SP2 = par('LX7(M1B)/LX18(M1B)")

.end

*HW1_ 2
.prot
dib'cicO18.I'TT

.unprot

.option

+post

+captab

+ABSTOL=1e-7 ACCURATE=1

.param VSG1=0
.param VSG2 =0
.param VSG3 =0

* Power Source *
VDD1 vdd1 gnd 1.8
VG1 vgl gnd '1.8-VSG1'
VDD2 vdd2 gnd 1.8
VG2 vg2 gnd '1.8-VSG2'
VDD3 vdd3 gnd 1.8
VG3 vg3 gnd '1.8-VSG3'

* Circuit Topology *

M1 vdd1 vgl vdd1 vdd1 p_18 w=10u I=0.5u m=5
M2 vdd2 vg2 vdd2 vdd2 p_18 w=50u [=0.5u m=1
M3 vdd3 vg3 vdd3 vdd3 p_18 w=5u I=5u m=1



* Analysis Statement *
.OP

.DCVSG1-1.81.80.01
.DCVSG2-1.81.80.01
.DCVSG3-1.81.80.01

* Output Control *

.probe DC ctotl = par('LX18(M1)')
.probe DC ctot2 = par('LX18(M2)')
.probe DC ctot3 = par('LX18(M3)')

.end

*HW1_3*
.prot
lib'cic018.I'TT
.unprot

TEMP 25

.option

+post

+captab

+ABSTOL=1e-7 ACCURATE=1

.param width = 1u

* Power Source *

VDD vdd gnd 1.8
VDCvin gnd 0.9

* Circuit Topoliogy *
MP vout vin vdd vdd p_18 w="'width' |=0.18u m=1



MN vout vin gnd gnd n_18 w=1u [=0.18u m=1
C1 voutgnd 0.3p

* Analysis Statement *
.OP
.DC width 0.25u 10u 0.01u

* Output Control *
.probe Vout = LX3(MN)

ALTER
TEMP -40
ALTER
TEMP 125

ALTER
lib'cicO18.I'FF
ALTER

TEMP 25
ALTER

TEMP -40

ALTER
lib'cic018.I'SF
ALTER

TEMP 25
ALTER

TEMP 125

ALTER
lib'cic018.1'SS
ALTER

TEMP 25
ALTER

TEMP -40



ALTER
ib'cic018.1'FS
ALTER

TJEMP 25
ALTER

JEMP 125

.end





